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Say It Bisimcha:

The Daily Song of Az Yashir

Thursday Night Live
Congregation Ohr Torah
Thursday 2/6/20
Rabbi Sariel Malitzky
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How important is the recitation of <> 18? How should it be said?
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The special reward for saying it
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Forgiveness of sins? How does that make sense?
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Approach #1: 1t’s all about love
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Approach #2: The Root of it all
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Approach #3
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Let’s take a stop back...Why are we even allowed to say w> 1&?
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So...how can we say it every day?
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The full perspective of the 7w
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Using this approach, we can answer another difficulty
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How exactly was the song sung?
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